OMmRON
Jooguootgd U ougtnd

godooonod

@ [ E32-TH200 [J E32-T81R-S
[J E32-TH500 [ E32-T81R-S 5M
[1 E32-DH200 [] E32-D81R1 -S[I

oo000ooooooobooooooooo 0oo oo (ob oo oo b0 |joojoo
OO0 |00 |00 |00 |00 (0000
0 E32-T81R-S o X O o ) o O
Ogooooooooooobooomooooooon [0 E32-D81R-S o % 0 o o o 0
gooooooooo
ooooog
oc00D00DO0O0ODOODOODOODOODO
x 0Oooo
poooooooooooodg

goong

gobogoboan

gooooo
0 E32-TH200/-TH500/-DH200 [0 E32-T81R-S/00 E32-D81R] -S[I
0 E32-TH200/-TH500 2-0000MM0M400 [0 E32-T81R-S
2-0000 M4x 0.5
00007 t=2.4 M2.6x 0.45 Zé_DEDDDDEDD 0ooooo
022 ¢3 @55 @65 / X M2.6§O_45 00000 Max 0.7 /q)3.6 02 Dooooooooo 4

9 0opo 922
: {wﬁ:::::::/::éﬁé@fj:@g{

J‘ ’L ‘ KE 75— 5 lea
B e e 24| @4 25
+—14.1—~—10—+F 2503~ 250 11 20 10 2,000
40t 5——| @5 |+— 40t 5——j« 6~{~—5 145 ’ A B
20008 3
0. 0 E32-TH5000 O O O 5000+ 100 0.0 E32-T81R-S 5M0 O [0 200001 50000 OO0 0 O
oooooo
0 E32-DH200 O E32-D81R

2-00000IdMmed O 2-000 M susd

2-00000 susd
0O00dOdmex 0.7501

M5x 0.75 0ooooo SUS303 2.2
04 —{—2010 00000 @12 oooo Sus 0ooo
000000o0ooo
/ M4x 0.7
N RS muw :
il T5c

20000
®85 955 95 43 000010, t=2.40)

e
=allazy
= i! W 1 =
uill | gl NN R
k14.1a‘«10 e ~——40:5—8 17— 48 20

20007 3%

01. 00000000 sus3030
0.0000000000020000000000 [0 E32-D81R-S
2-00000susd
2-0 0000 suso
00000Mex 0.7501

00000 @12 000000 sysoooooooooo
M4x 0.7 npoo
; M

]:——,,i,pqm'zm/ q:05 922 D]DD‘!

gt B! Tus 85
L D =h B == L fa X
3U.L J ‘
k.2 ] Lll.itj—— oy
=11 700— 5 51002
l—20 5 2,000 B
A

01. 000000000 sUs3030
01 00000ADO2000BO11000000
goomooomo200 M mooo
g0ooooooobooooooobooooo
02 0000000000010000000O0B00

0 E32-DH2000 0 0 O O E3X-DAC -SODO 0O O00OO0O0OODO
oM oboboboooboeX-DAC-SOO0O0O0O00O00
0 E32-D81R-SH0O 0 00000 O



katsura-r


gbooobooboobgn

OmRrRON

Ooooooooo gooooao goomog
00 E32-TH200 [0 E32-T81R-S 29,800
[0 E32-TH500 [0 E32-T81R-S 5M —
[0 E32-DH200 [0 E32-D81RI -ST 28,000
gooo
oo goooooonn gooooao
0o 00 E32-TH200 00 E32-TH500 0 E32-T81R-S [0 E32-T81R-S 5M
O0000000E3X-DA-S | OOO0O0 OO E3X-DA-S
0000000 E3X-All0 |O0000000OE3X-Al110 |JO0O00OO0OO gooooono
oooo gooooo oooooo doooooo 360mm oooooooo
0 150mm 0 90mm oo0oooo 280mm 00moooooog
oooood 70mm oono
oooodoo 25mm 10mm
oooooo gJ4o002000 DOOOooooooooooa J40002000 OO OO0O0O0O0O0O0O0O0O0O0
oooodo aoo aono
oooooo oooooooo ooooono
oo goooooonn gooooao
0o 0 E32-DH200 0 E32-D81R1 -SO
O0000000E3X-DA-SOOOOOO0O
0000000 E3X-Al100 00000 gooooog 150mm
oooo 0 45mm oooooo 90mm
Ooo0oooo 27mm
oogoooao 25mm 10mm
gooooao J40002000 0O0OOO0OOOOODOOO g4o00d2000 DOOOOOoOoOOOoOoOoOono
gooooo ooo aono
oooooo oooooooo aoooooo




